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Write and solve proportions.

Solve each proportion.
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Solve problems using the properties of similar polygons.

Find the value of x.
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Rectangle ABCD has a width of 8 meters and a length of 20 meters. Rectangle QRST, which

2 ) is similar to rectangle ABCD, has a length of 40 meters. Find the scale factor of rectangle
ABCD to rectangle QRST and the perimeter of each rectangle
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Use similar triangles to solve problems.

Identify the similar triangles. Find each measure.

1) Gt

b)10

|, c)11
d)9




o = B a)17
2 "
) VS b)16

Q Q c)15

¢ 13

S 3 datizal) eli Y slicez o

Use proportional parts within triangles.

1 ) If AB=6,BC=4,and AE =9, find ED.

M - AT A
a)s5 s ED
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2 ) If AB=12, AC =16, and ED = 5, find AE.

AB _ AE 3
)17 o T ED 7
b)16 2 2
4 = o S O

3 ) If AC =14, BC=8,and AD = 21, find ED.
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4) If AD = 27, AB = 8, and AE = 12, find BC.
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Use the Triangle Angle Bisector Theorem

Find the value of x.
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Identify similarity transformations.

Determine whether the dilation from A to B is an enlargenment or a reduction.
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Use scale factors to solve problems.

1 SCULPTURE A replica of a famous sculpture is 10 inches tall.
The original sculpture is 10 feet tall.

a. What is the scale of the replica? 1 in :1 ft
1

b. How many times as tall as the actual sculpture is the replica? .ﬁ.
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